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Practice 2 Problems
sec 6.5 ......p464, prob 10, 12 , 26
                  p465, prob 52
sec 6.6.......p475, prob 10


 ______________________________________________________________________

Sec 6.5
page 464, prob 10
Find the exact values of x in the indicated interval that satisfy the equation or condition.
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SOLUTION
 The problem is to find the value(s)  of x in the interval  
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 so that 
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It might help to look at the figures (the diagrams) on page 463 and page 461
 to see how the trig functions are defined using the unit circle.
Also, remember the values of the trig functions for special angles, sec 6.4.
In particular, for 
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   so this value of x is a solution of the equation
                                                       since 0 lies in the required interval 
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Similarly,
 for 
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  or  
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or
for   
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Larger angles will lie outside the required interval 
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, so
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    are the only solutions in the required interval.



Sec 6.5
p464, prob 12


[image: image15.wmf]cot1

x

=-

 , 
[image: image16.wmf]04

x

p

££



SOLUTION
As in the previous problem, look at the values of the cotangent function at the special angles
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  in radian measure.

Note that  
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and 
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 is the smallest positive angles satisfying the equation 
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so  
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 is the reference angle.


To see how the values of the trig functions, and in particular the cotangent function, varies in sign as the
angle x moves through the four quadrants, look at Table 1,figure 4, on page 441 of the text.

In Quadrant I the coordinates of a point P are both positive, that is,
P(+,+)
In Quadrant II the coordinates of a point P are negative for the x-coordinate
and positive for the y-coordinate, that is,
P(-,+)
In Quadrant III the coordinates of a point P are negative and negative, that is,
P(-,-)
In Quadrant IV the coordinates of a point P are positive and negative, that is,
P(+,-)


            Quadrant II                                Quadrant  I



                 P(-,+)                                     P(+,+)
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        Quadrant III                               Quadrant IV











From the definition of the cotangent function
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note that the cotangent is negative  in Quadrant II because for angles in Quadrant II
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and negative in Quadrant because for angles in Quadrant II


[image: image24.wmf]cot

x

+

==-

-

.

So the solution of  
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 in Quadrant II is 
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In Quadrant IV the solution is 
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We search for more solutions, more values of x, because we are looking  for solution
 in the range 
[image: image28.wmf]04

x

p

££

 :


[image: image29.wmf]311

2

44

pp

p

+=

  is a solution
and
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  is another solution and the last solution in the required range of 
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So the solutions are
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Sec 6.5
p464, prob 26

To 4 significant digits, using a calculator  evaluate  
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SOLUTION
The angle is given in radian measure.
If the angle were given in degree measure it would be written as
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, with the degree symbol 
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 attached to the number.

Using a calculator, 
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                                                                               to 4 decimal places, rounded-off.



Sec 6.5
page 465, prob 52
Smplify the following expression using appropriate basic identities.
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SOLUTION

Using the basic identity
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we see that
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so
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And since
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 , another basic identity,
we get finally
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       The final answer.







Sec 6.6
page 475, prob 10

At what points, 
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, do the vertical asymptotes for the following functions cross the x-axis?

       (A) 
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         (C)   
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SOLUTION
Look at the graphs of these functions.

(A) For  
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,  look at page 468, figure 4.
       The sine function has no vertical asymptotes.


(B)  For  
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,  look at page 472, figure 11.
In the interval  
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, the vertical asymptotes (the dashed lines)
cut the x-axis at the points
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(C)  For 
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,  look at page 473, figure13.
In the interval  
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, the vertical asymptotes (the dashed lines)
cut the x-axis at the points
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